LOMBARDI Nl;up: Piaggio LDW_702

A KOHLER. COMP“Bifgine: LDW_702/P Drawing: M

STARTING
POS. |CODE DESCRIPTION Qty
1 1780.165 bolt M 10 X 75 1
2 625.022 washer diam.10,5 (alt.45/65A) 1
3 732.064 screw M 8 X 30 2
4 3240.033 nut M 10 1
5a 8725.084 alternator support 40A Nippodenso 1
6 2100.089 preheating glow plug 12 V 2
7 2185.548 glow plug wire 1
8 1770.031 bolt M 8 X 1,25 X 50 1
9 1625.348 washer diam. 8,4 1
10 1157.326 eXternal volt.alternator 12V 40A Nippodenso 1
12 5840.224 starting motor 12V 1, 7KW 1
13 730.046 screw M 10 X 35 2
14 6745.050 0il switch 0,3 bar (M 12) 1
15 4670.060 copper gasket diam.12 1
20 B240.004 nut M 5 2
21 7626.066 washer 4
22 B3240.020 nut M 8 1
23  7565.007 washer diam. 8 1
33 6491.013 pipe elbow 1
38 3810.024 flange for starting motor 1,6 KW 1
41 2186.142 wire with diode 12V 1
85 2471.019 collar mm 175 1
87 7625.022 washer diam.10,5 (alt.33 A) 1
88 732.064 screw M 8 X 30 1

printed by LOMBARDINI:

11/08/2010 -

1




g M

'W_702/P Drawin

Engine: LD

L V(S

printed by LOMBARDINI: 11/08/2010



